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ES A 711,474 794,034 282,560 A10.40%
ZIALS 19,100 499,100 480,000 N9B.17%
HREs 692,374 294,934 397,440 134.76%
HAE 2L B 0 0 0 0.00%
WNEIE=PN 711,474 794,034 /82,560 A10.40%
JI=ME2Y 416,773 271,063 145,710 53.76%
HRES(AE= K1) 416,773 221,063 195,710 88.53%
BEXE(MIISXDIZ) 416,773 221,063 195,710 88.53%
FHAHSAIZ 286,001 284,271 1,730 0.61%
SAD1gE 7= 10,400 210,400 200,000 A95.06%
NASS TH Zaz XJ(MESX0I2) 10,400 210,400 /200,000 N95.06%
WResS(Hexan) 275,601 73,871 201,730 273.08%
BEXE(AEI=EXDIZ) 275,601 73,871 201,730 273.08%
cel - Jad 8,700 238,700 /230,000 96 36%
ESlEINEFS 8,700 238,700 /230,000 A\96.36%
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